BRIRTE B.Ed. Wa3T URI&T

LIRS

AT HERIE Il

L. A A e s ?

How many squares are there in the
following figure ?

(A) 24
(B) 16
(Cy 26
(D) T ¥ FE TE/None of these

2. = enfopss Aol & foepm @ §@

P —

Find the missing number in the following
number series :

Fa | L T O
27,28

(A) 11

(B) 14

(C) 13

(D) T ¥ P15 -8/None of these

, 16, 20, 20, 23,

3. T TR fem 9 = 1 Wy fowE B 7

How many cubes are there in the given

figure 7

ﬁy
(A) 14 (B) 15
) 16 (D) 17

4, fefefRa % & wrel o= o @ 2 ?

In the series below find which will fill the
blank ?
OBDR, QACT, (1, UYAX, WXZ7ZZ

(A) ASVD (B) SZBV
(C) RAAV (D) SZBU

5 = g9 ¥ fFgY 21 591 9 U9

TSP TH T O I T 7
In the following cube how many cubes

07-06-2019
©ol YA UA

are jointed together to form a big cube ?

<
7
S

,/
(A) 16
(B) 32
(C) 8
(D) T8 ¥ DT Ri/None of these

. P I F el 1 aEmell % I

BT I B—

Difference of sums of numbers at diago-
nals of the central square is :

12 115 |11

2 |13 |16

6 |3 |14

109 |7 |4
(A) 29
(B) 1
C) 14

(D) T8 ¥ P TE/None of these

. Al SN T bifd—

Find the correct answer :

3 19 23
O ?
7 5 il 29

A7 /314
@[] @&l 9 ]
NalEi% L
3739 @mﬂ\
© O o [ ]]
43 41 4T 43/
T

8.

10.

11.

12.

aTen T = dferT—

Find the next figure :

Find the missing numbers in the follow-
ing numbers series ;

69, 70, 66,57, 1. 16

(A) 41 (B) 50

(C) 40 (D) 35

Freferfaa el o™ § o 2 7
Find which of the following comes in blank
space ?

COD, BOE, AOF, (7)

(A) XOF (B) ZOB

(C) ZOH (D) ZOG

Trifea = & SwM o || P

5 99 3 SR & @ N I o
e 7
Using the following figures find when '3'

is at the top, which number will be at the
bottom 7

Y &

(A) 4 (B) 2
(C) 5 (D) 6
i faefafan = oe siafas & 7

Which is water image of the following
figure ?

-

et *\\ O

]
Ii__!'
o
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13.

14.

15.

16.

I
e

(B)

(© o

(D) §99 ¥ &% Ta/None of these

I ‘ELECTION’ & Fcae & <77 &
“VOVXGRLM’ ¥, 99 ‘UNIVERSITY’
P Fedg R STI—

If 'ELECTION' is coded as

VOVXGRLM', then UNIVERSITY" will
be coded as :

(A) GMRSVHIFL

(B) FMREVIHRGE

(C) FMRSVIHGB

(D) $H ¥ WIE 7e/None of these

<l TS 8 A BT Il 3P PIA—H
& ?

What will be the next number in the given
number series ?

5, 16,51, 158, _ 1

(A) 483 (B) 481
(C) 490 (D) 491
first @1 gPT—

Choose the odd one :

(A) 17 (B) 19
(C) 21 (D) 23
oTer e | i |

Find the next figure :

=

o {78

(D) SUrET GW/All of the above

17. B ot 3 faga s 319 Aifom—

Find the missing number in the following
square :

3 31 | 22

13 | 7 21

20 | 3 13
{A) 12 (B) 2
{Cy 0 (D} 20

18. Tr=ifea # 9| fawd s &—

Find the odd one from the following ;
(A) T : Ul/Book : Page

(B) ©F%7 : $19%/Table : Drawer

(C) P : FISI/Shirt : Cloth

(D) PR : TFdl/Car : Wheel

19. aFTen R 99 Sifeg—

Find the next figure :

771 N

S £

.-J
L

© |

"

(D) LL;_J,IJ

20, T SR =9 Hifew—

Find the correct answer :

I 493 1

4 _ _ﬂ4
_/.I

(A) 32__;
g 16
4 3 416
'ﬁi/j 37"

© R . (D) I \;9

i & B D & TWIFE 1A §

1,2,3,4, ..., 99
A-B4+F+CxM-V+Y=

22,

24,

A-B+F+CxM-V+Y=
(A) O (B) 28
(C) -3 (D) 5
fa= snifde o § fagra e @9
FT—
Find the missing number in the following
number series .
O ol T 1602036, T, 60, 12
(A) 71
(B) 41
(C) 60
(D) $79 W P1g Te/None of these

. o= @1 faes e foes 9ot & 5

¥ e v 8 R & freied
s # 5—
Match the figure from the given figure

having same number of slant lines as in

the given figure :

<L
N

® | N\

R

<—
© L/\

(D) T8 I PE Tai/None of these

si @ F W e i B TRARI—
Identify the wrong number in the series :
18, 51, 150, 487, 1338

(A) 18 (B) 51

(C) 487 (D) 1338

g <A, ‘B, ‘O A ‘D’ A ol E e
0,2 [l kT AT IR a b, ¢, de.
FIINI AL 1,2,3, 4, ..., T
aDxAICfBpCb=
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27,

29,

If &, ‘B’, "C" and ‘D’ means'+’, -, '+’
and ‘X’ respectively and if a, b, ¢, d,....
have place values like 1,2, 3, 4, ....., then
aDxA1CtBpChb=

(A) 22

(B) 20

() 0

(D) T ¥ F1E T8/None of these

. T8 TEY 319 Pifeir—

Find comrect answer :

1 013 215 4
B D | F 7
3 . 5 7 |7
A C E
7. 6 7. b
@A) i (B) -9H~;
g g
7 6 7 b
H
(©) ] @ [oH
g G G

g% ‘AIRSTRIKE' 1 Fedg & S
¥ ‘KIRTSRIEA’ ¥, @9 ‘PATHANKOT
P FeTg T Smm—

If ‘AIRSTRIKE’® is coded as

‘KIRTSRIEA’, then ‘PATHANKOT?
will be coded as :

{A) OKNAHTATP

(B) KONAHTATP
(C) OKNAHTAPT

(D) TOKNHATAP

. Il “Mohan is very young' @7 L & ‘rat

mat lat tat’ ‘Boys may be young’ T Fc &
‘tat sat bat fat’; ‘Mohan may be
handsome’ T T & ‘mat fat bat cat’; T
‘Boys may be handsome’ 1 T T E?
If “rat mat laf tat’is the code of *Mohan is
very young’; “tat sat but fat’is the code of
‘Boys may be young’; ‘mat fat bat cat’ is
the code of ‘Mohan may be handsome’;

then what 13 the code of ‘Boys may be
handsome’ 7

{A) cat fat rat sat

(B) rat bat mat tat

() cat fat bat sat

(D) T ¥ P1E T&/None of these

TF U & O Reafodl T &7 S &2
fig & Rl R fig @ ?

Three different positions of a dice are given

below, How many dots liec opposite to 2
dots 7

31.

32,

3

‘ 16 12 7

wE g ¥ e § ¥ B
T TG g1 & 7

Which of the following state is largest in
terms of population 7

(A) TERT/Maharashtra

(B) f¥2R/Bihar

(C) =T We¥/Uttar Pradesh
(D) 7e He¥/Madhya Pradesh

fr=feriiag # @ feam 2 fwfier & <4
& faererdi Ren =aaeen ¥ wgszeia
farenera wree U W =iy ?

Which of the following recommended that
multipurpose schools should be introduced
in the school education system 7

(A) HallermR  @lee —  1952-53/
Mudaliar Commission — 1952-33

(B) amawd TRl B — 1990/Acharya
Rammurty Committee — 1990

(C) ITERT TrSgEal B FIRET — 2005/
National Curriculum Framework —
2005

(D) T fnen A9 — 1968/ National
Policy on Education — 1968

wfaer 4 g g § 7
How many articles are there in the
constitution ?

(A) 395 S/ 395 articles
(B) 414 &[5/ 414 articles

34,

%o

36.

37.

(C) 435 aresa/ 435 articles

(D) 444 ST/ 444 articles

HRATT Sferawer & Mafe &5 & 3
AT E 7

Which are components of primary sector
of Indian economy ?

(i) o™ vd ygpETEd/Agriculture and
Animal Husbandry

(iiy T/ Forestry

(iii) HA~=IYTe /Fishery

(iv) T 79 ST/ Mining and Quarry

(A) Fad (i)/ Only (i)

(B) (1)U (i) (i) and (ii)

(C) (i), (ii) T3 (iii)/ (), (i) and (iii)

(D) (i), (i), (iii) TT (iv)Ai), (i), (iii) and
(iv)

e Yo W= B gite 9 s

AT & 7

In view of structure Meghalaya plateau is

similar in period to :

(A) Terarferss/ Shivalik

(B) TIaan/Aravali

(C) BT MR/ Chota Nagpur

(D) FHAR/Kumaon

¥ 2018-19 § HRAY sreiaawen @ forg
TN TSN TE & g% 3 Al
BT A 7

What was the revised fiscal deficit rate
fixed for Indian economy in the vear 2018-19 7

(A) el SINe] SIS <1 3.2 WikieRi/3.2%
of GDP

(B) el BNe] SIS BT 3,3 Ui/ 3,3%
of GDP

(C) el TNe] ST P 3,4 Uferd/3.4%
of GDP

(D) TP BT IR P 3.5 9RTH/3.5%
of GDP

1914-15 ¥ BIcl YR &4 ¥ g SR
affeTer 1 Aot e % & o o 7

Who of the following was the leader of

the Oraon movement in the region of
Chota Nagpur in 1914-15 7

(A) Tso] 99/ Vishnu Bhagat
(B) @M 7Wa/Koya Bhagat
(C) TaM A /Shyam Bhagat
(D) S 9974/ Jatra Bhagat

| 3
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38.

39.

40.

41.

42,

43,

R e Tda E—

Old folded mountain is :

(A) IREE/ Aravali

(B) #T/Rocky

(C) TvesT/Andes

(D) fedrera/Himalaya

& fafomT gfersh =1 fFrafolRea e
IS P URUT YGH B ?

Which of the following movement was

inspired by Henry Vivian Derozio 7

(A) T fofdam R/ Young
Christian Movement

(B) @1 T 3MEreH/ Young Bengal
Movement

(C) ga1  WeEE  &farer/ Young
Protestant Movement

(D) FIIER 3&iei=/ Yugantar Movement

BURTg W e HFdl W 9y 2018-19 %
1T YT @ TPe TR S H 0 ghg
X A BT E 7

What State Gross Domestic Product's

growth rate is estimated for the year 2018-
19 at constant prices in Chhattisgarh 7

(A) 7.08%
(B) 6.08%
(C) 5.08%
(D) 6.58%

B AT R e v

Who amongst the following invented the

E-mail ?

(A) T 9%/ Vint Cerf

(B) ST Ttafer/James Gosling

(C) f&7 =¥=/Tim Berner

(D) ¥ EFfer/Ray Tomlinson

e R AN fdes, 21 9, 2018

& Tow (W) ar—

The theme of 4" international Yoga Day,

June 21, 2018 was :

(A) ST W o1 A1/ Yoga for Soul

(B) 3RT & foTT AFT/ Yoga for Peace

(C) weer & foTv T/ Yoga for Health

(D) AW @ faw T/ Yoga for
Harmony

fReferfaa 7§ &9 v & 9=Ra &
e s w1 wree gan ?

At which of the following conference the
Non-Alignment Policy of India was
conceived ?

45.

47,

(A) 9Ig7 WA/ Bandung conference
(B) Tewen wHIe/Delhi conference
(C) FET Fe/Cairo conference
(D) HHfel |¥&=/Manila conference

= H W P et & e | R

€7
In the following which oil region is
sitmated in Gujarat ?

(A) 9S¥YY/Badarpur

(B) 91/Lungj

(C) I919/Basin

(D) TE¥eicaT/Naharkatiya

g & 1T s &—

Assessment for learning is to

(A) ¥% o W faenfEa @ 2ot v
BT B Sed o THAT S

T |/Provide ranking to the students
in the class.

(B) ¥ fdenfeial & 999 S9— &2ar
¥ |/Create stress among the students.

(C) ¥8 R feren a6 W Hael Teb IR T
I % |/Be done only once in the
whole academic year.

(D) ¥% Yo glagfie Suersy wad
BV G &1 HaEH Bl § [/ Improve

learning by providing a constructive
feedback.

TR P AR B g = A ¥ T
TREE ?

Which of the following is matched in the
context of Head of the House ?

(i) =g fgam aw 1 TP/ Speaker
of State Legislative Assembly.

Gy wivw  fagra ofvwg @7
TIfT/Chairman of State Legislative
Council.

(i) it | 1 TEY/ Speaker of Lok
Sabha.

(v) TS89 T W AWK/ Chairman of
Rajya Sabha.

(A) (@)

(B) (1), (1)

(C) (), (i), (iid)

(D) (1), (1), (1), (iv)

HEIrT g1 5 Teege foan o e

57

Who can be removed by Impeachment ?

(i) TSEUfS/President

48.

49,

50,

51.

(i) ErE A T e/ Judges
of Supreme Court

(i) <=9 e & ~OTNENe/ Judges of
High Court

(iv) T frafa smgaa/Chief Election

Commissioner
(A) @)
(B) (@), (i)
(C) (D), (i), (a1i)
(D) (D), (i), (iid), (av)
e At Ry 1 e e ¥ R
RT BT 7
By which of the following West Nile virus

1 transmitted 7

(A) WA/ Bugs

(B) GuetreTsd/Sand flies
(C) #eBY/Mosquito

(D) &% Felgd/Black flies

a9 2001 ¥ 2011 &1 2B SEfy & ke
A s @ afte gy 3% T @
7

What is the annual growth rate of

population in India during 2001 to 2011
decade 7

(A) 1.93% (B) 2.14%
(C) 1.64% (D) 1.61%
g Wfder arqeaTT Sk ufliereT uRug

(A ZHREA) T WHIIE 2000 B
e feg RUE ST A A & 7
National Council of Educational Research

and Tramning (NCERT) reviewed the NCF,
2000 1n the light of the report :

(A) Trem =T AT $5-1993/ Learning
Without Burden — 1993

(B) ®IER  HARH—1964/
Comimissicn — 1964

(C) rsgrr ferem ifa—1986/National
Policy on Education —1986

(D) B1. ITETE™E  ATATT-1948/

Dr. Radhakrishanan Commission
—1948

Kothari

If% vF e e & 5 oien ¥
WHY X A8 UgAdl & o 99 ged @
YR B WY g T He 7

What will you do as Principal, if a teacher
of the school does not come to a function
of school on time 7

collegedunia:s
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52,

53.

54,

(A) PRITH P T B YT < RIe7F
¥ fHer = F&T |/ You will ask him
to meet you after the function is over,

(B) Taemer &1 o THfd & S9!
RBEa 941 |/ You will complain
this o the management committee
of the school.

(C) 99 & T97 U T |/ You will
scold him before everyone.,

(D) AT I TP STREE & fauy
H a7 If You will tell him about
his responsibilities

i § § Se—w 01 AT BT wE

w9 H gRYIRe e ¥ 7

Which of the following attributes would

correctly define learning 7

(A) ¥Eam, FEgATEEar T
TRigEIRtdl/ Understanding, imagination
and workmanship.

(B) @B H TUREH, WM W
31799/ Change of behaviour, practice
and experience,

(C) fawam, G RIE 9
TEeerdl/Belief, creativity and
endurance.

(D) T=raie, gl Te WU/ Intuition,
Intelligence and Memorisation.
frefafaa 9 9§ o/ ve “anseye feags’

TEE?

Which of the following is not an ocutput

device ?

(A) Toex/Printer

(B) TNFH/Speaker

(C) ATATex/Monitor

(D) F—dre/Keyboard

T THIeTs @7 FU1 HIAl TR0 oy gy
e & 7

What should a teacher
examination are near 7

(A) TEnfefl 91 o TR TR Jenes
qregh® UT Bl WMEY [/Complete

the syllabus by calling students at
his home.

faemera ® afoRea w9y 2%

IERIEHA Ui AT fRY I/Complete
the syllabus by devoting extra time
In school

FYH B BEAT IMET I/ Ask the

students to complete the syllabus
themselves.

do when

(B)

)

35.

56.

7.

(D) WeqH TS Bl B IR S
WEFTl T 91y |/Help them
solving with important questions.

I% FEl a1 & 15 T e 7 fenfeRy &

weq qgfaae fafvan i oIkt €198

q E—

It is said that there are individual

differences among students in aclass. The
fact 1s :

(A) Taror 9 frerenl &g UH 91 e
2 |/Great hinderance to teachers in
teaching,

g & SR Rrern @1 FEgE
& &g TP GAM FI/A suggestion
for teachers to be careful in teaching.
ot 7 ARveIRI T i
# erg=fersT ¥ |/Purely a historical

evidence that is outdated today.

T ey g BT wmida o
AT HHGANE & QB F@=
M AEd € I/ Supported by lazy

teachers to find excuses for their
weaknesses.,

(B)

©

(D)

The concept of practical intelligence is
given by ...

(A) TR/ Gardner
(B) a3/ Sternberg
(C) fUarsi/Piaget
(D) fa+i/Binnet

TF R8T 5T S9Ar § A 95l 9P
S FRET S

Techniques used by a teacher to teach
include :

(x) oTdaY/Lecture

(b) e=a:FaTcH® oiTax/ Interactive
lecture

(c) W98 wd/Group work

(d) F—8Tegy=/Self study

ey fay T wadl § F HR SO I A

BT

Select the correct answer from the codes

given below :

(A) (a), (b) ST (c)/(a), (b) and (c)

(B) (a), (b), (c) AT {(d)/(a), (b), (c) and
(d)

(C) (b), (c} T (d)/(b), (c} and (d)

(D} (a), (b} T (d)/(a), (b} and (d)

58,

59,

6.

(i e S 1 o L 1 B 3 B PO T
(aids) W & olU e wwET AR B 7

Which of the following statements about
teaching aids is the most correct 7

(A) ¥ Il D TG o 9HY OF
AR TG A FEIAl B4 & |/ They

help in retaining concepts for longer
duration

g B B TEAY e d e
T & |/ They help students learn
better

o Rsu—aifin "iehar & SEex

919 & I/They make teaching-
learning process interesting

¥ e AR B T T |/ They

enhance rote learning
ST T2 Y WSS Td N G H SHfern
WETT S <9 § | @ 7

(B)
(©)

(D)

Children of today are under greater
emotional stress than the emotional stress
of children a century ago, Why ?

(A) M9 @ |99 AfEE Sfe|
¥ |fSociety today is more complex.

(B) URNER & ASWl & 91y HIY FHAR
B 77 ¥ /Bonds with members of
the family are weakened

(C) Toemerm 7= & fov Wi T8
& |/Schools have not adjusted to
children

(D) 9Tt gedl § HH ofg o ® I/
Parents take less interest in children.

Tenieia <61 sruftafa 67 sned & WaH

H

In context of the habit of Absenteeism of
students :

(A) Y T9 AfvEsl @ Rfad g
AMRY |/ The principal and parents
should get worried

(B)

P AT |/The officials of the
schools should take action against
them as per schools discipline.

Rigrep! & TH T THY IS &
4 H @A "M3C I/ The teachers
should take it as a serious problem.

frafm faemfel @ gan & 39
Trenfefat @ e H =9 wefirear <

ST =MRT |/ They should be given

less priority in the classroom in
relation to regular students.

©

(D)

Y| 5
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61.

62.

63.

64.

HINIROT BT TF AT 7 S o o
Hiod ufism a3 & Toro snaifem o
%Tﬂil:

One fundamental principle of motivation

which inspires students to work harder is
when :

(A) O arg+ wied g fHfag = §
Students set their own goals

(B) ©IF g g Ffdag adawa sy
N ATEI B & | Students follow

reasonable goals set by others
(C) B WFY & 5 << gearfaa &1/

Students know that punishment may
follow

(D) B W4 € & 9 BN urg

B |/ Students know they will
recelve rewards.

99 e 99 B T AW B 9 T o
@ Afers w9 7 fierar & gored 399
fAder s18y @ UG B H GG B
T
What is the name of a system of
instruction that seeks to enable all
students to achieve instructional
objectives by allowing learning time to
vary 7
(A) GUNTHS
instruction
(B) JIgfe ¥ /Insight learning
(C) e Tl /Mastery criterion

(D) HEeTd AFTH/ Mastery learning

T Han faenta) o SHaR s
T AT &1 o 59 veR o 3%
ey B A 7

You have a class which is very

heterogeneous in height. You should allow
a seating arrangement :

(A) TI5REE, Which is random.

(B) W&l B #g & faandi gu yer faow
¢ 5 T wen # aNfafiE B
TN W 3 P 79 T FR
% |/ Where smaller students are

allowed to sit in such a way that
they can see and participate easily
in class actively.

U Eeer S QUi WY ¥ S9E W)
ey =11/ Which is purely based
on height.

(D) T =eeer e Ba @ o foene
T 1T 43 |/ That has taller students
on one side of the class.

/91 W ¥ sl SHFS B WA B

¥ TERiT R ¥

¥ /Corrective

()

65.

Which of the following is most
appropriate about your honesty 7

(A) H waiftrs $9er afe €1/ am
the most honest person

(B) H1 3 ar = wof wcrafRear |
fépe % 1/1 have done all my task, with
a sense of duty,

(C) ¥ & N o & fow 0 9 o
TUER 8] o & I/1 never accepted
any gift for any work.

(D) 9 3rep gTa URAIET P STRAIER
Y 397 E1/1 have wrned down so
many tempting offers.

fergrz =67 0 B 8 A AR P IR

% 70 e 5T | SFaR 9 99 99

OF Y IIg & qdl 99 yder H 9

U gol, U, W &I 9W@ 9| 99

YATIEY {057, 99, Yol T B |

qre el Y6l | TE B TG F 98 3

P TS I B 9F TR 7

Sunday night, Neha studied for a test on

Monday morning. She remembered the
material quite accurately on Monday and
got on A on the test. However, when she
took a review test two weeks later, she
could no longer remember the same
material. How far in Neha's memory did
the material get ?

(A) 98 9O% Widlg®s ISIPRv] %
ﬂf{ﬁ’f /It reached her sensory register

(B) 9% 9SS BT FARY' d T /Tt
reached her working memory.

(C) 98 THP <rebllerd SR &
TgaT /It reached her long-term
memory

(D) T5 9P T 96 F9 78 gea /It
never got into her memory at all

wan faor 7 Wy fere o SwwmEr B B

q

Teachers who are enthusiastic in

classroom teaching they :

(A) faenf¥al o o9 srefig w7 &g
RG] ¥ ST FOaRT FR

¥ I/Simply dramatise to hold the
students attention.

(B) WRI: 379 SE ¥ a9 afx o
%S AT 27T o7 @1 A E |/ Often

loose proficiency in the subjects
which stay hidden under their
enthusiasm

feremfeiaT = frem—atftrm ufear |
FEHT T4 & |/ Involve the students

in teaching- learning process

(D) SRR |HI/All of the above

()

67.

638.

69.

70,

e ¥ g I-41 ST $HE] Seay
wWLHE?

Which of the following cognitive abilities
is of the highest level ?

(A) AT/ Knowing

(B) ¥HHAT/Understanding

(C) fazeior @31/ Analysing

(D) HedTH" &A1/ Evaluating

T B HHAS EEN Dl GUNA o
ATH WHERIN aYid ©

What is the most effective way to reform
the aggressive behaviour of a child ?

(A) S UH @A =1f8T I/He should

be kept in isolation

% I9ER $ U Y P @
i @Y7 91eY I/ Reasons for this

behaviour should be investigated

SH wmeiwdr ¥ =fEa e 9

4Me¢ I/He should be punished
severely

T IFeET R ST =@iRT I/ He
should be ignored

4fe g fendt srusr gmE 98 B
%,?ﬁaﬂﬂl:

If a student does not pay any respect to

(B)

(C)

(D)

vou, then you will :

(A) S ToNSEN F/Ignore him

(B) TIeT H B AF YoM FI/ Award
less marks in examination

(C) SUS UIetd] ¥ dR-T a1/ Talk to his/

her parents

(D) =¥ HeHERAT/Rebuke him
faenfdE & Eed @ Sw @ waww
fafr &

The best method of checking siudent's
homework is ;

(A) ®& & Fhagur fendl o S @

P 37 1/ To assign it to intelligent
students of the class

AHfed 9 9 B § ST A SirE

BT/ To check the answers in the
class in group manner

ATET BTX P HEEAr ° W™

EYAT I/ To check them with the help
of specimen answer

(D) Fafta $9 3 e & gRT @ Sig

wYA1 1/ To check by the teacher
himself in a regular way

(B)

()
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71.

72,

73.

74.

T YRR W ety & o T g,
HeEel &1

A reward that is external to the activity,
such as recognition or a good grade is

(A) AR WRAET/An  intrinsic
mcentive

(B) STOR® SEE T/ An internal
drive state

(C) 91 WIHIE/ An extrinsic incentive
(D) Wafis E@?'Fﬁ A primary reinforces
ferenfefll @& fere waiferes waeaqel o1 % -
Which quality is most important for

students 7

(A) HfeT uf¥=M/Hard work

(B) STSTIEIRAT/Obedience

(C) Ta8ar/Humility

(D) Y= o /Independent thinking

waERaS ® wUT g, fF aftrm @
e Ta aegfS wiw § e B
& forq <1 U@ BNl &1 AaIE STaead
RIFmE?

Behaviourists proposed that to study
learning in an objective, scientific manner
they must focus on two key things that
can be observed, What are they !

(A) srgerH den wf/Adtention and
Memory

(B) STfdw G& QL@ /Responses and
Stimuli

(C) 3P 92 gerdia/Responses
and Behaviourism

(D) FIfd gen eqfeHar/Memory and
Response

TaT fiew & e sE-d g fadeand

0 gy e # b E 7

Classroom teachers have which pair of

qualities under their direct control ?

(A) TITET vd e & suyear/

Incentive and appropriateness of

instruction
(B) P& 9MmWpT T TPHEM/Room
temperature and lighting

(C) ©T5 sqyrd den e & Toras/
Student's aftenfion and quality of
instruction

[ THY 77 B IGUH/Seat time
and student's attention

(D)

7o

76.

77.

78.

af sy foemem = oA Me—gersy
P PR Y o Arsd & a1 AT TG B 7
It the students of your school are not

interested in doing work jointly, then what
will you do ?

(A) 94T 3781 fUei—gpeieY Bl &
T+ FH T |fAll the teachers

work jointly before them
(B) fro—gerx Rl % & Agd Bl

FHSTHT |/Tell  them about the
importance of working jointly.

(C) 399 wald SEEvr g
B I/ Present examples related with
it

(D) 39 fd98 W Y&iE Y Bl
1 I/ Suggest them to read books
on this matter

wiferar feren o wrafamar & o= =@,

P -

Priority to girl education should be given
because :

(A) aifrdd, aerd | siftid glgae
AT & |/ Girls are more intelligent than
the boys

(B) WIeTHIY, Wleihl W Hear 4 oW
%/ The girls are lesser in number than
boys

(C) WerT | ARl H e H
Fferpe g8 IR 9RwE w1 RieR

/il M I/The girls were badly
discriminated in favour of boys in
the past

(D) &Il Ty & FEToIe TReE
F1 A T U G959 & [/ Only girls
are capable of leading for social
change

B falH=Te © aR FEe wres

B BH-H TIH & 7

What is a strategy for accommodating

instruction to student differences ?

(A) FAMGZANOT/Psychoanal ysis

(B) BT @1 T fag<vr/Student's T
distribution

(C) BET-Aed &9 FHAIHUT/ Between,
class ability grouping

(D) B& & T O U gig aqe H
RIS DA Administering
students in class

e fRrers & 70 arus wis &1 Aier g9
g gfte g 3 mifer & B IE-3
TS E 7

79,

51,

82,

§3.

What are some ways for a teacher to
include visual imagery in his/her lesson
plans 7

(A) T3/ Pictures

(B) T%/Maps

(C) B/ Graph

(D) ITRrT AW/ All of the above

TF IS W R $ A faemers

BT |

A lesson that is developmentally

appropriate for adolescents would be
characterized by .............

(A) gAfdereT & fow werer o€ W

JTAAT FIAT/ Using flash cards for
review

(B) SMYNYT Wl B SR AT/
Memorization of fundamentals

(C) 9 el &Hal ¥ Taq gg F1/
Steady growth in understanding and
capabilitics

(D) WS qdi Bl SIETFT/Repetition of

important facts

Dyslexia is associated with ...,
(A) AFRSF {a@fd/Mental disorder

(B) =agsRTeA® fqFfel/Behavioural
disorder

(C) g I Taphi/Reading disorder
(D) Torgm @t fagla/Writing disorder

g & o USR £ 7
(A) T (B) =1
(C) o= (D) IR

H A8 6 woed s A H
Frafafeg 4 9 SF-97 Sy ¥ ?
(A) O — SUArEY

(B) 9= — ST

(C) fopar fagryor — Suarsg

(D) Taemur — Suareg

T — Y G TS A ATl e
MY |

(A) 9 — TR (B) Y@ — YA
(C) S —g7m (D) foer — | <
quR| 7
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84.

85.

86.

87.

88.

89.

90.

91.

92.

93.

faernfasies g () &1 W 2)r T—
(A) S | 93 Bl HISY TIET &3 #
(B) wdl fRufy fftma 7 &

(C) areg = ol W

(D) TFT H AT 9T T WP
S B 1€ B AN HI 37 & 91 Bl
T B I FEAT E—

(A) fag & s Wie BEA

(B) 95 g7 Wi I g = S a3
(C) 7 &M G 7 TorT g
(D) 7 8 gemen, 7 e I
AR H T 4 WE T B A Ay
T fapedl 7 T @1 yatgar e g
(A) TaRET (B) Mo

(C) TfT (D) e
Bfd® T w3 & forg fva garay @
BT yafeT ¥ 7

(A) e TN

(B) B& ¥

(C) Iy e

(D) FFH IR AFEIET

TE T A TEE P T PR —
(A) WA (B) WHwuiEaT
(C) AT (D) FTTATEA
Rrareias Faa-faeme & e | % 7
(A) T (B) &1

(C) M (D) TN

gu H el T8 Wl | 9 g W oA
&

(A) HTIaTey
(C) HHar

(B) Tqared
(D) Sudead |4l

IRy

General English

Choose the correctly spelt word from the
following :

(A) Aparthied
(C) Aparthed

(B} Apartheid
(D) Aparthad

Choose the most appropriate words to
fill in the blanks in the given sentence.

§ § | [/ n— get wet if 1t ............ .
(A) Willfrains (B) Will/rain

(C) Willframed (D) Would/rains
Choose the most appropriate answer :

Ts swimming good for health' ?

94,

In the above sentence, the vnderlined word
swimming is used as :

{A) Present Progressive (Present
continuous)

(B) Gerund

{C) Present participle

(D) Past participle

Choose one word substitute for one who
1 centre of attraction :

(A) Centrifugal (B) Centripetal

(C) Cynosure (D} Cytoceniric

Direction (Q. No. 95 to 97)

Read the following passage and answer the
questions based on if.

9s.

Today I, Rabindranath Tagore, complete
cighty vears of my life. As Ilook back on
the vast stretch of years that lie behind
me and see in clear perspective the history
of my early development, I am struck by
the change that has taken place both in
my attitude and in the psychology of my
countrymen-a change that carries within
it a cause of profound tragedy.

Our direct contact with the larger world
of men was linked up with the
contemporary history of the English
people whom we came to when know in
those earlier days. It was mainly through
their mighty literature that we found our
ideas with regard to the newcomers to our
Indian shores. In those days the type of
learning that was served out to us was
neither plentiful nor diverse, nor was the
spirit of scientific enquiry very much in
evidence. Thus, their scope being strictly
limited, the educated of those days had
recourse to English language and literature.
Their days and nights were eloquent with
the stately declamation of Burke, with
Macaulay’s long rolling sentences;
discussions ¢entred upon Shakespeare’s
drama and Byron’s poetry and above all
upon the large-hearted liberalism of the
nineteenth century English politics.

What helped the Indians to conceive of a
notion of the Englishmen ?

(A) Their advanced weaponary

(B} Their literature

(C) Their orders

(D) Their administration

Who could gain from English literature ?
{A) The educated Indians

(B) All the Indians

(C) Only writers such as Rabindranath
Tagore

(D) None of the above

97. Whose speeches did Tagore listen to, as a

boy ?
(A) Shakespearc's (B) Byron's
(C) Johm Bright's (D) Macaulay's

Direction (QQ. No. 98 to 100)

In questions each passage consists of six
sentences. The first (S1) and the sixth (S6)
are given the beginning. The middle four
sentences in each bave been removed and
jumbled up. These are labelled PQRS.
Choose one of the four alternatives given
below every passage which would be the
most logical sequence of the sentences in
the passage.

98.

99.

100,

51: The coming of the computer sparked
the need for remotely operated
controls.

S6:

P: It is silicon chip that is at the heart
of the remote control.

The code 1% based on binary digits.

(3 : This produces an infra-red beam,
which is made up of electromagnetic
waves.

R: When you press the button on the
remote control, the chip sets off an
electric vibration.

8 : Thebeam carries a coded signal such
as switch on, raise volume etc.

(A) PQRS (B) PQSR
(C) PRQS (D) RPQS
8§1: Health is the most valuable of all

earthly possessions.

56: The man who does not oversal rises
early in the morning at ease with

himself.

P: To enjoy good health we should
refrain from excess in eating.

Q: Otherwise we will not get sound
sleep.

R: We would eat only moderately and
not devour whatever we get,

5 : Without it all other possessions are

worthless.

(A) QSRP (B) Q5PR

{C) SPRQ) (D) SPQR

51: There was a dacoit who used to rob
rich people.

56 ; He robbed rich people again.,

P: Once the Police managed to capture

him.

Q : He was sent to prison for 10 years,

but he managed to escape.
R: He helped the poor and the needy
from the money so obtained.

S+ The court which tried him found him

to be guilty.
{A) RP50Q (B) RSQP
(C) RPQS Dy POQRS
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